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SupA=1:K,YneX. Also, IEA.

Since for any XCI, X is notan upper bound ofA. EsupA=1.

InfA =0:0 is a lower bound since 02AnfX



(pt) a=infE. i.e. 11) a is a lower bound ofE

12) Ur> a, w is not a lower bound of E

Needtoshow thatD- a is a upper bound of E.

&Fr> - a, is nota upper bound of E.

ForD, (1) =>XxeE,x> a
=k - x =

-E, -x - a. (definition)
-

=>v2= -E,2? -a.(y =-x) =D

For&, 12) = Fr> a, EXEE such that r>x I definition)

=> *s-a,1 - xe - E such that IP <-x (ald"-"(
-

-
-

Il

=>V&c- a, zyc - E m that-(8y) =0x-

-



sptS [(argt]" =[((ans*)x38 =(am* =am8

[1ai)]=[/(apst]*" =(ai)* =aP =
an8 by =

Bythe uniqueness ofmg-th roof, (am* =(amg)=(ai)t,



ipts(ajnaijus umpr_agm pu

Caras* =(a)(a)* =(flans*)x38. ([a"s*]*}"
= aR8.al =amgtph.

Bythe uniqueness ofnorth roof, we have arts:ana.*



(pt, Need toprove Ft > r, tER,
as a

mG
Lett=2=(,930), -mg<up, = a < a"

up
Since

we

-as-at-atlat"(a*)+...+(a*e>8

Since are Alr), SupAlr)=aY. #



1p7s a**=supA(x+ y) =xup[a
+

1 +eR, +2x+y 3
( bydefinition)

....... (1

a*a =mpA(X). supALY)

=sup(a"Ireta, rexy,sup) a"ISER, s-2) (bydefinition)
ar
+S

=sup (aFas/ r, 3, R, rx, (y)........(2)

(1) =xp(a
+

(-x+y, +cR) =xp(a
+

(-+y, +cR)
#in"() =xp(a)(x,y,r,se) =xp(a)-x,y,4,5-R)
Then, Gt1 +xx+y, +GR) =(res)rex, sy, r,seRY,

=>(a+ 1 +xx+y, +cR) =(a)rx,sy,r,sek),
So,(1) =xup(a+ 1 +xx+y, +cR) =sup(a))rx,sy,r,sek) =(2)x



Why is the Claim
->

true? See video...


